



## Cálculo Nº1

- $3.810'26 \times 2'34 =$
- $78'951 \times 8'67 =$
- $25.876 : 8436 =$
- $43'727 : 82 =$
- $7'498 : 43 =$
- $5 \times 8 + (9 \times 2 - 7) + 10 =$
- $(7 + 3) : 10 + 4'2 \times 10 : 6 \times 2 =$
- $(5'1 + 1'6 - 4) \times 10 + 13 =$
- $\left[ \left( \frac{5}{4} + \frac{7}{4} \right) - \left( \frac{2}{2} + \frac{6}{4} \right) \right] \times \left( \frac{4}{6} + \frac{8}{3} \right) =$
- $\left( 3 + \frac{7}{3} \right) \times \frac{2}{5} + \left( \frac{7}{6} \times \frac{4}{2} \right) =$

